

三位小数×10 （ 1）
1 、0.596×10＝
4 、0.351×10＝
7 、0.781×10＝
10 、0.127×10＝
13 、0.173×10＝
16 、0.829×10＝
19 、0.557×10＝
22 、0.527×10＝
25 、0.179×10＝
28 、0.861×10＝
31 、0.826×10＝
34 、0.241×10＝
37 、0.720×10＝
40 、0.821×10＝
43 、0.401×10＝
46 、0.497×10＝
49 、0.815×10＝
52 、0.291×10＝
55 、0.806×10＝
58 、0.735×10＝



2 、0.821×10＝
5 、0.784×10＝
8 、0.792×10＝
11 、0.194×10＝
14 、0.350×10＝
17 、0.632×10＝
20 、0.677×10＝
23 、0.206×10＝
26 、0.670×10＝
29 、0.400×10＝
32 、0.727×10＝
35 、0.770×10＝
38 、0.335×10＝
41 、0.230×10＝
44 、0.653×10＝
47 、0.136×10＝
50 、0.109×10＝
53 、0.378×10＝
56 、0.575×10＝
59 、0.464×10＝



3 、0.138×10＝
6 、0.505×10＝
9 、0.618×10＝
12 、0.878×10＝
15 、0.355×10＝
18 、0.654×10＝
21 、0.697×10＝
24 、0.668×10＝
27 、0.818×10＝
30 、0.200×10＝
33 、0.597×10＝
36 、0.349×10＝
39 、0.506×10＝
42 、0.432×10＝
45 、0.899×10＝
48 、0.166×10＝
51 、0.702×10＝
54 、0.454×10＝
57 、0.296×10＝
60 、0.378×10＝



三位小数×10 （2）
1 、0.161×10＝
4 、0.578×10＝
7 、0.535×10＝
10 、0.183×10＝
13 、0.182×10＝
16 、0.398×10＝
19 、0.743×10＝
22 、0.439×10＝
25 、0.198×10＝
28 、0.768×10＝
31 、0.342×10＝
34 、0.686×10＝
37 、0.879×10＝
40 、0.122×10＝
43 、0.108×10＝
46 、0.814×10＝
49 、0.606×10＝
52 、0.506×10＝
55 、0.726×10＝
58 、0.126×10＝



2 、0.182×10＝
5 、0.136×10＝
8 、0.669×10＝
11 、0.316×10＝
14 、0.329×10＝
17 、0.887×10＝
20 、0.665×10＝
23 、0.663×10＝
26 、0.569×10＝
29 、0.113×10＝
32 、0.509×10＝
35 、0.448×10＝
38 、0.516×10＝
41 、0.517×10＝
44 、0.773×10＝
47 、0.283×10＝
50 、0.799×10＝
53 、0.519×10＝
56 、0.441×10＝
59 、0.291×10＝



3 、0.650×10＝
6 、0.817×10＝
9 、0.688×10＝
12 、0.141×10＝
15 、0.858×10＝
18 、0.123×10＝
21 、0.593×10＝
24 、0.773×10＝
27 、0.624×10＝
30 、0.214×10＝
33 、0.661×10＝
36 、0.865×10＝
39 、0.485×10＝
42 、0.641×10＝
45 、0.435×10＝
48 、0.328×10＝
51 、0.491×10＝
54 、0.773×10＝
57 、0.370×10＝
60 、0.280×10＝



三位小数×10 （3）
1 、0.474×10＝
4 、0.619×10＝
7 、0.131×10＝
10 、0.399×10＝
13 、0.645×10＝
16 、0.322×10＝
19 、0.770×10＝
22 、0.797×10＝
25 、0.266×10＝
28 、0.358×10＝
31 、0.587×10＝
34 、0.849×10＝
37 、0.169×10＝
40 、0.821×10＝
43 、0.318×10＝
46 、0.309×10＝
49 、0.896×10＝
52 、0.224×10＝
55 、0.213×10＝
58 、0.340×10＝



2 、0.551×10＝
5 、0.284×10＝
8 、0.186×10＝
11 、0.757×10＝
14 、0.276×10＝
17 、0.408×10＝
20 、0.296×10＝
23 、0.803×10＝
26 、0.782×10＝
29 、0.247×10＝
32 、0.724×10＝
35 、0.460×10＝
38 、0.748×10＝
41 、0.670×10＝
44 、0.106×10＝
47 、0.701×10＝
50 、0.263×10＝
53 、0.258×10＝
56 、0.686×10＝
59 、0.814×10＝



3 、0.312×10＝
6 、0.171×10＝
9 、0.790×10＝
12 、0.155×10＝
15 、0.748×10＝
18 、0.854×10＝
21 、0.553×10＝
24 、0.696×10＝
27 、0.541×10＝
30 、0.699×10＝
33 、0.707×10＝
36 、0.655 ×10
39 、0.589×10＝
42 、0.322×10＝
45 、0.159×10＝
48 、0.803×10＝
51 、0.106×10＝
54 、0.548×10＝
57 、0.727×10＝
60 、0.325×10＝



三位小数×10 （4）
1 、0.283×10＝
4 、0.284×10＝
7 、0.779×10＝
10 、0.738×10＝
13 、0.777×10＝
16 、0.475×10＝
19 、0.837×10＝
22 、0.197×10＝
25 、0.802×10＝
28 、0.406×10＝
31 、0.884×10＝
34 、0.597×10＝
37 、0.551×10＝
40 、0.237×10＝
43 、0.817×10＝
46 、0.755×10＝
49 、0.329×10＝
52 、0.536×10＝
55 、0.450×10＝
58 、0.499×10＝



2 、0.622×10＝
5 、0.892×10＝
8 、0.635×10＝
11 、0.557×10＝
14 、0.693×10＝
17 、0.239×10＝
20 、0.541×10＝
23 、0.164×10＝
26 、0.660×10＝
29 、0.367×10＝
32 、0.859×10＝
35 、0.577×10＝
38 、0.661×10＝
41 、0.308×10＝
44 、0.688×10＝
47 、0.737×10＝
50 、0.251×10＝
53 、0.405×10＝
56 、0.736×10＝
59 、0.692×10＝



3 、0.349×10＝
6 、0.723×10＝
9 、0.345×10＝
12 、0.239×10＝
15 、0.725×10＝
18 、0.629×10＝
21 、0.289×10＝
24 、0.245×10＝
27 、0.481×10＝
30 、0.497×10＝
33 、0.679×10＝
36 、0.850×10＝
39 、0.878×10＝
42 、0.406×10＝
45 、0.584×10＝
48 、0.490×10＝
51 、0.292×10＝
54 、0.245×10＝
57 、0.784×10＝
60 、0.410×10＝



三位小数×10 （5）
1 、0.614×10＝
4 、0.848×10＝
7 、0.429×10＝
10 、0.735×10＝
13 、0.160×10＝
16 、0.338×10＝
19 、0.226×10＝
22 、0.706×10＝
25 、0.202×10＝
28 、0.363×10＝
31 、0.308×10＝
34 、0.496×10＝
37 、0.696×10＝
40 、0.743×10＝
43 、0.138×10＝
46 、0.781×10＝
49 、0.512×10＝
52 、0.514×10＝
55 、0.291×10＝
58 、0.455×10＝



2 、0.885×10＝
5 、0.479×10＝
8 、0.768×10＝
11 、0.543×10＝
14 、0.232×10＝
17 、0.335×10＝
20 、0.142×10＝
23 、0.790×10＝
26 、0.174×10＝
29 、0.128×10＝
32 、0.210×10＝
35 、0.532×10＝
38 、0.315×10＝
41 、0.649×10＝
44 、0.134×10＝
47 、0.267×10＝
50 、0.870×10＝
53 、0.406×10＝
56 、0.283×10＝
59 、0.408×10＝



3 、0.588×10＝
6 、0.358×10＝
9 、0.719×10＝
12 、0.275×10＝
15 、0.861×10＝
18 、0.675×10＝
21 、0.296×10＝
24 、0.680×10＝
27 、0.425×10＝
30 、0.545×10＝
33 、0.459×10＝
36 、0.255×10＝
39 、0.503×10＝
42 、0.705×10＝
45 、0.842×10＝
48 、0.296×10＝
51 、0.633×10＝
54 、0.511×10＝
57 、0.787×10＝
60 、0.512×10＝
